o 2PA1-C
k9 APEX DYNAMICS, INC.

i 58 55 2 SRR M ARAS - W% B E R 2 Z 5= AREERERNE > BEFTERRR > BEIHER
BHERS - IR HE B S o

o
a. BMTEErEkos - V 1IE & B N BREEZHMONRY > EEUE - £
b. IBME - FLRFER - MEE A TEN N WOE IR E AR WRE -

TN R + {5 5E SR AL IR Hh R T 8

2EB - / 7>

..{/“;

N\

2

) Bal SHRERPRBEIIER  2RKR_ES
NEZ 5% & 1~4 MIBFS - FBIRFABHEH 28 e LR e

MMEEER L -

$

N o~

1R EEBRMETTER - MBMBANR (K—) .
BEHNE - K 1~4 MIER » BRNRTIGRH ROEE
BEE -




R

SRR IR ER

< ANFAUER ST |3 8.8 Wik SAESH BT 10.9 Wik SEELH IR 12.9 Wik S
[mm] [Nm] [In-Ibs] [Nm] [In-Ibs] [Nm] [In-Ibs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
. R R R T AR
R e R LA VYA ANAEER T PR
[mm] [mm] [mm] [Nm] [In-1bs]
AB042 LI < <11 M3 x 0.5P x 8L 2.5 2.1 19
ﬁgggé -] <11 M3 x 0.5P x 8L 2.5 2.1 19
AB060 B <14 M4 x 0.7P x 12L 3 4.9 44
22838 - ] <11 M3 x 0.5P x 8L 2.5 2.1 19
ﬁgggg R <19 M5 x 0.8P x 14L 4 9.8 87
AE090 e L0 <14 M4 x 0.7P x 12L 3 4.9 44
AB115 i < <32 M6 x 1P x 16L 5 17 151
2;28 ] <19 M5 x 0.8P x 14L 4 9.8 87
AB142 B f <38 M8 x 1.25P x 20L 6 41 364
Z\Eigg = ] <32 M6 x 1P x 16L 5 17 151
AB180 ] <48 M10 x 1.5P x 25L 8 80 709
ﬁggg - i <38 M8 x 1.25P x 20L 6 41 364
AB220 LS < <55 M12 x 1.75P x 30L 10 139 1232
22;:252 -] <48 M10 x 1.5P x 25L 8 80 709
fEE: SRAEIEH TV ERR A o FA TS - AT AR AR 20% - DUBERATHE -

Tt 886-4-24650219 /

f4H : 886-4-24650118

Hiik: 40763 G R EERHE=

10 5

APEX-2014-12-1E



	2PA1-C
	2PA1-C-背

